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Honors Math Midterm Study Assignment

Complete each problem. Show ALL work. No calculator allowed! ety L’ ‘;tsefFW
N

Graph each equation.
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Find the slope of the line between the two points or from the table. Simplify if possible. (-i’—z-——i’l)
2—X1
\ 43 43 3 33
4)(-3,7) and (6, 5) 5) (3, 6)and (-1, 12) 6) x |0 3 B 9 12 ‘h‘l o
571r= 2= ¢ 13 y [14 [8 [2 [-4 [-10 | &0
6t»| 7 <=5 = -4 7 -6 ¢ -6 <= R
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Write an equation in slope-intercept form. (y = mx + b)
7 o8 [y 9
L E:w" T + g2 | -8 "
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2.4 6.8:10 ‘2] 13

‘ \{='20x+|20'

10) Laura got a new puppy, which 17-% 24

grew the same number of pounds B

per year. The puppy was originally 1lbs i 3 )&mrg :
After3 years, itwas 17 = 3 \bs Fcfyaar 2slope.

pounds. Write an equation that DPe

gives the weight y of the dog x
years after she bought it.
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Say whether each is: A) Not a function; B) A function but nonlinear;
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A) Not a function

B) A function but nonlinear

C) A function and linear

14) Draw six points on the graph that

would not be a function.
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- C) A function and linear

e S I
12) X Y 22} ——f‘-ﬂ—v“‘ Need to remember 2
3 8 \ _:2____2__ 45 different rules —what
' 4 11 e 1 ;L;Z—— 15 makes something a
: 5 (14 i \ __0____3_— .6 function? And what
IR W 2 [ 43 1%

A) Not a function
B) A function but nonlinear
C) A function and linea

A) Not a function

CBTTftTnEion but nonlinear )

C) A function and linear

15) Create two equations that would be nonlinear.
Livput=>Zoutp s ] % 4—3\
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-m‘ lchﬂ Y-x +] \ \i-____..-—-—“

’ Y:F—-B’ \I:L-

*

Bk 16) Create two equations that would be linear.

20 e 1 3 e

For 17-19, use the following functions:

17) Find h(4).

h@)=%
hen=-32

|11(-n=-: l

20) Convertto a demmal =

lc)g'%{% -

‘z'&
e
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Convert to a fraction. Simplify if necessary.

22)0.1 23)0.12

2 3
10:'

Y: -‘ix ¥3
eic.

'ZxMY:lO

9@ = @-0*  h@=7

18) Find g(6).

96)= (2-sY
9(6)= (-9’

21) Convertto a decimal: =
1,0833 .

\ V13,0000

19) Find g(-7).

ez (2-6n)’
3(— AW

24)0.123 25)

1 26)0.12 27)0.123

[L 2 Jo 123 _Tui
A 3 &6
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28) Write each letter in the correct box, according to whether it is rational or irrational.

6 .

Rational | Irrational A:_l—l %mt‘hs'ﬂ ’-ikk'f 5

A E B: 0.4285 -‘nmw&.nS Pr. =Rody
F C:0.35 fepeatiag dec. = Rat
D: 0.878787 ..~ 5
E:2.846672 ... yes fwever, doesyt veped > 1T
V8223  fm-exuct pot= Trv
G:;jﬁ =6 ot reot = pot
H: V125 = 5

29) Estimate the value of v58. Do not use a calculator. Explain your reasoning in words.

q( @27 _JS';% i (Aceept between 7-5'%)]
¢ \fﬁ:%
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ST =7and o7 =€, S0 (iF is betwem {43,
53 s closer tv 64 Hhon 49,50 it shald be over 1.5.

Solve each equation. Find ALL possible solutions.

30) x* = 64 31)x2 = —121 32) x3 = —27
Solve equation. (2 of them are “weird” ones — no solution or infinite solutions)
33)3(2x+4)+3x=—x+72 34)8x—4=—10+$x
~-< =g
61(4—[?\%3)(:-}(172 = e
PUROE T P g =10
e
+A NO Soluhien
lox+12= 72
1% ~l
35) 65/ 3 = 12x + 3 36)—@8)+7x=_1__9_@+6 =13
_ -6x - ~6xx16 + 7% = Ix+16
i g %216 =[x+ g
—--—-——""'—-

2% - e Sidis |

Solve each system of equations:

37) (Substitution) {43: _|=_ 2%; 34

Uys2(2x-3) =34
Yx +Hx~6 =34
-g=34
B 4? 36
=40
%% j‘- O o o o O
=5 10, 8:6)-4,-21 |
’ 6x-3(9=3 2
- g o ,; s o e (-
o G ek
! 6x =12
x=2
(2,
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